Ihese are a few of my FAVORITE THINGS

Name: Erin Pillsbury

Class/Position: Principal

Birthday: **September 26 Pillsbury**

Shirt Size: S

Monogram: Mrs

Dietary Restrictions: None

MY FAVORITE:

College team: Indiana University Hoosiers Color: All Salty snack: Pistachios, trail mix, cool ranch doritos Fruit: Strawberries or apples Candy or candy bar: peanut butter snickers or york peppermint patties Gum flavor: No aum Soft Drink: Diet Coke Sodalicious Drink: Diet coke with coconut Starbucks: Iced latte with oat milk Cookie: Sugar Cake: White cake like you get at a wedding :) Dessert: anything fruity Take-out/fast food restaurant: Canes, In & Out, Salad and Go, Some Burros Sit down restaurant: Torchy's, Nando's, there are so many! Ice Cream Shop/Flavor: No ice cream Coffee Shop: Black Rock Bookstore: Amazon Teacher Supply Store: Flair pens or sharpies Scent: citrus Hobby: Barre class, walking and TV

If you found a gift card for \$5, where would you want it to be to? **Black Rock** If you found a gift card for \$20, where would you want it to be to? **Target** If you found a gift card for \$100, where would you want it to be to? **Lululemon** Any Additional Information You Would Like Us To Know? **I appreciate all of you and the time to take to get to know the staff**

Ihese are a few of my FAVORITE THINGS

Name: Michelle Burton

Birthday: December 17

Dietary Restrictions: NA

Class/Position: Admin ast

Shirt Size: M

Monogram: MLB

MY FAVORITE:

College team: U of A Color: teal/blue Salty snack: chips- Doritos Fruit: umm lol apples Candy or candy bar: Snickers, Kit Kat, Peanut M&M Gum flavor: mint Soft Drink: Pepsi Sodalicious Drink: Coke/Pepsi Starbucks: strawberry lemonde frap or passion fruit tea Cookie: chocolate cip Cake: na Dessert: chocolate chip cookie or none Take-out/fast food restaurant: Chick Fil A - Chipotle Sit down restaurant: **any place** Ice Cream Shop/Flavor: none Coffee Shop: Starbucks- tea only Bookstore: Amazon Teacher Supply Store: Amazon Scent: tropical or fruit., citrus Hobby: sports baseball

If you found a gift card for \$5, where would you want it to be to? **Target** If you found a gift card for \$20, where would you want it to be to? **Target Amazon** If you found a gift card for \$100, where would you want it to be to? **Amazon** Any Additional Information You Would Like Us To Know? **no**

Ihese are a few of my FAVORITE THING

Name: **Corie Incorvaia** Birthday: **May 28** Shirt Size: **M** Dietary Restrictions: **gluten free**

Class/Position: school counselor

Monogram: CI

MY FAVORITE:

College team: Kent State University Color: Purple, Pink, Orange Salty snack: Gluten Free pretzels or schar entertainment crackers Fruit: **arapes** Candy or candy bar: Hersheys or Reeeses; Sour patch kids Gum flavor: mint Soft Drink: Mt. Dew, Coke Zero, Coke, Dr. Pepper Sodalicious Drink: Just Dew It Starbucks: Pink Drink Cookie: Gluten free chocolate chip Cake: Gluten free white Dessert: Ice cream Take-out/fast food restaurant: In N Out, Chipotle, Smashburger Sit down restaurant: Red Robin, Olive Garden, Nandos Ice Cream Shop/Flavor: Menchies Coffee Shop: Starbucks Bookstore: Barnes & Noble Teacher Supply Store: amazon Scent: clean scents and tropical Hobby: crafting, supporting my kids cheer, reading,

If you found a gift card for \$5, where would you want it to be to? **Starbucks** If you found a gift card for \$20, where would you want it to be to? **Starbucks, Amazon, Target, restaurant**

If you found a gift card for \$100, where would you want it to be to? **Amazon or restaurant** Any Additional Information You Would Like Us To Know? **No**.

Ihese are a few of my FAVORITE THINGS

Name: **Brittany Gaus** Birthday: **April 9** Shirt Size: **M** Dietary Restrictions: **None**

Class/Position: Psychologist

Monogram: BG

MY FAVORITE:

College team: None Color: Turquoise Salty snack: Siete Tortilla chips Fruit: Banana and pomegranate Candy or candy bar: Gummy bears Gum flavor: Cinnamon and Peppermint Soft Drink: Unsweet Iced Tea Sodalicious Drink: Rosie Water, Sparkling Starbucks: Unsweet Passion Iced Tea Cookie: Sugar and Chocolate Chip Cake: Vanilla, Lemon, Carrot, Pumpkin Dessert: Pumpkin bars, cookies Take-out/fast food restaurant: In n out Sit down restaurant: Vito's Ice Cream Shop/Flavor: Dairy Queen vanilla or Tillamook Vanilla/Strawberry Coffee Shop: Dutch Bros Bookstore: Amazon Teacher Supply Store: Amazon Scent: Woodsy scents (cedar, pine, sandalwood) Hobby: Antique shopping, decorating, baking, traveling

If you found a gift card for \$5, where would you want it to be to? **Dutch Bros** If you found a gift card for \$20, where would you want it to be to? **In n out** If you found a gift card for \$100, where would you want it to be to? **Amazon, San Tan Flats**

Any Additional Information You Would Like Us To Know? None

Ihese are a few of my FAVORITE THINGS

Name: Lisa Elcock Birthday: August 3 Dietary Restrictions: none Class/Position: Data Specialist

Shirt Size: M

MY FAVORITE:

Monogram: E

College team: Northern Illinois Huskies Color: Yellow and Orange Salty snack: Chocolate covered pretzels Fruit: bananas and cherries Candy or candy bar: dark chocolate Gum flavor: none Soft Drink: Diet Coke Sodalicious Drink: Something tropical like citrus/grapefruit Starbucks: Green Tea no water Cookie: Chocolate Cake: Chocolate Dessert: Chocolate Take-out/fast food restaurant: Chop Shop Sit down restaurant: PF Changs Ice Cream Shop/Flavor: anywhere....chocolate Coffee Shop: any place with green tea Bookstore: Audible Teacher Supply Store: Amazon Scent: citrus/lemon Hobby: running

If you found a gift card for \$5, where would you want it to be to? **Amazon** If you found a gift card for \$20, where would you want it to be to? **Amazon** If you found a gift card for \$100, where would you want it to be to? **Amazon** Any Additional Information You Would Like Us To Know? **? I'm a pretty simple person**

Ihese are a few of my FAVORITE THINGS

Name: Joan Bishop Birthday: September 10 Dietary Restrictions: None Class/Position: **Health office** Shirt Size: **M** Monogram: **JB**

MY FAVORITE:

College team: ASU Color: Purple Salty snack: Cashews Fruit: Grapes Candy or candy bar: 1000 grand or M&M Gum flavor: cinnamon Soft Drink: Pepsi Sodalicious Drink: Pepsi Starbucks: White chocolate, peppermint Frappuccino Cookie: Chocolat chip Cake: German chocolate Dessert: Cheesecake Take-out/fast food restaurant: Rasing canes Sit down restaurant: Red Robin Ice Cream Shop/Flavor: Mint chocolate chip Coffee Shop: starbucks Bookstore: Banes and Noble Teacher Supply Store: ? Scent: Peperming Hobby: reading

If you found a gift card for \$5, where would you want it to be to? **Amazon** If you found a gift card for \$20, where would you want it to be to? **Amazon** If you found a gift card for \$100, where would you want it to be to? **JC Penney** Any Additional Information You Would Like Us To Know? **?**

Ihese are a few of my FAVORITE THINGS

Name: **Betsy Lannon** Birthday: **February 4** Dietary Restrictions: **None** Class/Position: Kitchen Manager

Shirt Size: XL

Monogram: B or L

MY FAVORITE:

College team: None Color: Purple Salty snack: Nuts Fruit: Strawberries Candy or candy bar: Dark chocolate Gum flavor: wintergreen Soft Drink: Diet coke Sodalicious Drink: None Starbucks: None Cookie: School boys Cake: Chocolate Dessert: Mousse Take-out/fast food restaurant: Culvers Sit down restaurant: Arribas Ice Cream Shop/Flavor: Any Coffee Shop: none Bookstore: Amazon Teacher Supply Store: None Scent: NONE Hobby: Crocheting, diamond dots

If you found a gift card for \$5, where would you want it to be to? **QT** If you found a gift card for \$20, where would you want it to be to? **QT** If you found a gift card for \$100, where would you want it to be to? **QT** Any Additional Information You Would Like Us To Know? **no**

Ihese are a few of my FAVORITE THINGS

Name: Myrna perez Birthday: January 30 Dietary Restrictions: None Class/Position: Child nutrition assist

Shirt Size: L

Monogram: M

MY FAVORITE:

College team: None Color: Turquoise Salty snack: Chips Fruit: Mango Candy or candy bar: Chocolate covered raisins/almond Gum flavor: Mint Soft Drink: Coke/pepsi Sodalicious Drink: None Starbucks: Mocha Frappuccino Cookie: Chocolate chips Cake: Tres leches Dessert: Cakes Take-out/fast food restaurant: Cafe Rio Sit down restaurant: Olive garden Ice Cream Shop/Flavor: Jeremiah's Italian ice mango Coffee Shop: Starbucks Bookstore: None Teacher Supply Store: N/A Scent: Any scent except for cinnamon and pumpkin Hobby: N/A

If you found a gift card for \$5, where would you want it to be to? **Starbucks** If you found a gift card for \$20, where would you want it to be to? **Walmart** If you found a gift card for \$100, where would you want it to be to? **Walmart** Any Additional Information You Would Like Us To Know? **None**

Ihese are a few of my FAVORITE THINGS

Name: Angela Perry Birthday: September 12 Dietary Restrictions: None Class/Position: Child Nutrition Shirt Size: L Monogram: AMP

MY FAVORITE:

College team: None Color: Cream Salty snack: Roasted cashews Fruit: Cherimoya Candy or candy bar: Orange slices or Hershey nuggets Gum flavor: Spearmint Soft Drink: Cream soda Sodalicious Drink: None Starbucks: None Cookie: None Cake: None Dessert: Tres Leche Take-out/fast food restaurant: Backyard Taco Sit down restaurant: Pita Jungle Ice Cream Shop/Flavor: None Coffee Shop: Black Rock / Mexican Mocha Bookstore: Amazon Teacher Supply Store: None Scent: None Hobby: Motorcycles

If you found a gift card for \$5, where would you want it to be to? **Black Rock** If you found a gift card for \$20, where would you want it to be to? **Amazon** If you found a gift card for \$100, where would you want it to be to? **Ulta or**

Amazon

Any Additional Information You Would Like Us To Know? Scent sensitive. No lotions or candles

Ihese are a few of my FAVORITE THINGS

Name: Maria Ojeda C Birthday: 08/23/ Shirt Size: XL Dietary Restrictions: none

Class/Position: morning custodian

Monogram: none

MY FAVORITE:

College team: **none** Color: Green Salty snack: granola bar Fruit: **peach** Candy or candy bar: none Gum flavor: **any** Soft Drink: ice tea Sodalicious Drink: ice tea Starbucks: berry berry Cookie: butter pecan Cake: carrot cake and banana bread Dessert: pecan pie Take-out/fast food restaurant: Chick Fil A Sit down restaurant: Barrio Queen Ice Cream Shop/Flavor: pistachio and black cherry Coffee Shop: Starbucks Bookstore: none Teacher Supply Store: none Scent: yanke pine Hobby: hiking

If you found a gift card for \$5, where would you want it to be to? **Starbuks** If you found a gift card for \$20, where would you want it to be to? **Target** If you found a gift card for \$100, where would you want it to be to? **Kohls** Any Additional Information You Would Like Us To Know? **no**

Ihese are a few of my FAVORITE THINGS

Name: Arlenda Birthday: October 24 Dietary Restrictions: none Class/Position: sped aide

Monogram: Arlenda

MY FAVORITE:

Shirt Size: S

College team: AZ Sun Devils Color: white Salty snack: **trail mix** Fruit: **banana** Candy or candy bar: Snickers Gum flavor: cinnamon Soft Drink: ginger ale Sodalicious Drink: orange Starbucks: chai tea latte Cookie: sugar cookie Cake: coffee cake Dessert: banana split Take-out/fast food restaurant: Chipotle Sit down restaurant: Pita Jungle Ice Cream Shop/Flavor: strawberry / salted caramel Coffee Shop: Starbucks Bookstore: Barnes and Noble Teacher Supply Store: Target Scent: **minty** Hobby: hiking

If you found a gift card for \$5, where would you want it to be to? **Target** If you found a gift card for \$20, where would you want it to be to? **Target** If you found a gift card for \$100, where would you want it to be to? **TJ Maxx** Any Additional Information You Would Like Us To Know? **n/a**

Ihese are a few of my FAVORITE THINGS

Name: Alyssa Baker Birthday: January 28th Dietary Restrictions: none Class/Position: **Special education** Shirt Size: **M** Monogram: **Alyssa**

MY FAVORITE:

College team: ASU Color: pink or light blue Salty snack: salt and vinager chips Fruit: strawberries Candy or candy bar: Skittles or Sneakers Gum flavor: mint Soft Drink: Mug Sodalicious Drink: anything good Starbucks: mocha Cookie: anything chocolate Cake: chocolate or red velvet Dessert: cake or ice cream Take-out/fast food restaurant: Pita Jungle Sit down restaurant: San Tan Flat Ice Cream Shop/Flavor: Jeremiahs Italian ice Coffee Shop: The Bistro Queen Creek Bookstore: Half Price Books Teacher Supply Store: Hobby Lobby Scent: flower Hobby: painting

If you found a gift card for \$5, where would you want it to be to? **Target** If you found a gift card for \$20, where would you want it to be to? **Frys** If you found a gift card for \$100, where would you want it to be to? **Frys** Any Additional Information You Would Like Us To Know? **love anything <3** Jhese are a few of my FAVORITE THINGS

Name: Becky Brown

Birthday: January 31

Class/Position: SPED

Shirt Size: XL

Monogram: **BB**

Dietary Restrictions: None

MY FAVORITE:

College team: Kennesaw State University Color: Pink or Blue Salty snack: Plain Sunchips or corn chips Fruit: Grapes Candy or candy bar: Zero, Hershey plain Gum flavor: Bubble Yum (no sugar free) Soft Drink: Pepsi real sugar Sodalicious Drink: Blue raspberry or cherry Starbucks: White Chocolate Mocha Cookie: Chocolate chip Cake: Lemon Dessert: Brownies Take-out/fast food restaurant: Torchy's Taco Sit down restaurant: Seven Brothers Ice Cream Shop/Flavor: Jeremiah's Cookie butter Coffee Shop: Starbucks Bookstore: Amazon Teacher Supply Store: Target Scent: Lemon, peppermint Hobby: Scuba

If you found a gift card for \$5, where would you want it to be to? **Jeremiah's Ice** If you found a gift card for \$20, where would you want it to be to? **Seven Brothers** If you found a gift card for \$100, where would you want it to be to? **Target** Any Additional Information You Would Like Us To Know? **I love golden retrievers**

Ihese are a few of my FAVORITE THINGS

Name: Jaime Courtney

Class/Position: Sped

Birthday:March 29Shirt Size: XLMonogram: JCDietary Restrictions:Allergic to pineapple and walnuts

MY FAVORITE:

College team: UNIVERSITY OF ALABAMA - ROLL TIDE Color: Red Salty snack: Popcorn Fruit: Any but pineapple Candy or candy bar: Snickers Gum flavor: No gum Soft Drink: Squirt Sodalicious Drink: No idea Starbucks: Hot sweet coffee Cookie: Snickerdoodle Cake: Carrot cake Dessert: Cinnamon roll Take-out/fast food restaurant: Somburros Sit down restaurant: Texas Roadhouse Ice Cream Shop/Flavor: Mint chocolate chip Coffee Shop: Don't have one Bookstore: 1/2 price books Teacher Supply Store: ? Scent: Pumpkin spice Hobby: Gardening

If you found a gift card for \$5, where would you want it to be to? **QT** If you found a gift card for \$20, where would you want it to be to? **HomeGoods** If you found a gift card for \$100, where would you want it to be to? **Amazon** Any Additional Information You Would Like Us To Know? **I am allergic to pineapple and walnuts**

Ihese are a few of my FAVORITE THINGS

Name: Shannon MatherlyClass/Position: Sped Inst asst 4-6Birthday: October 7Shirt Size: LMonogram: SMDietary Restrictions: None

MY FAVORITE:

College team: ASU/ Nebraska Color: Red Salty snack: Any chips Fruit: Pineapple or Mango Candy or candy bar: Peanut Butter M&M Gum flavor: Trident Tropical Twist Soft Drink: Diet Coke Sodalicious Drink: Dont have I Starbucks: French vanilla latte SF Cookie: I love them all Cake: Chocolate with vanilla or whopcream frosting Dessert: All of them Take-out/fast food restaurant: Thai Chili Sit down restaurant: Green coroner Ice Cream Shop/Flavor: Handels Coffee Shop: Black Rock Bookstore: Changing Hands Teacher Supply Store: Walmart or Target Scent: Warm scents - vanilla pumpkin maple etc. Hobby: Paddleboarding swimming hiking

If you found a gift card for \$5, where would you want it to be to? **Nothing but bundt cakes**

If you found a gift card for \$20, where would you want it to be to? **Visa gift card** If you found a gift card for \$100, where would you want it to be to? **Visa gift card** Any Additional Information You Would Like Us To Know? **My favorite dogs are Basset hounds and all rescue dogs**

Ihese are a few of my FAVORITE THINGS

Name: Ruth Olivares Birthday: May 3 I Shirt Size: L Dietary Restrictions: NONE

Class/Position: Instructional Aide

Monogram: Ms.Ruth

MY FAVORITE:

College team: N Color: **pink** Salty snack: Hot Cheetos Fruit: **quava** Candy or candy bar: Chocolate Gum flavor: mint gum Soft Drink: Pepsi Sodalicious Drink: ? Starbucks: caramel frappuccino Cookie: chocolate chip Cake: double chocolate cake Dessert: sopapillas w ice cream Take-out/fast food restaurant: Salad and Go Sit down restaurant: Nandos Ice Cream Shop/Flavor: Dairy Queen Coffee Shop: Black Rock Bookstore: Any Teacher Supply Store: Any Scent: Clean Hobby: Dance

If you found a gift card for \$5, where would you want it to be to? **Dutch bros** If you found a gift card for \$20, where would you want it to be to? **Aalmart** If you found a gift card for \$100, where would you want it to be to? **Amazon** Any Additional Information You Would Like Us To Know? **Gracias**

Ihese are a few of my FAVORITE THING

Name: Annie QuinteroClass/Position: Tech Liaison\Inst AsstBirthday: October I6Shirt Size: LMonogram: AMQDietary Restrictions: No milk, No Milk Choc, lite sugar

MY FAVORITE:

College team: U of Oregon, Arizona Wildcats Color: Green Salty snack: Bugles, original Fruit: **Bananas** Candy or candy bar: Payday Gum flavor: Peppermint Soft Drink: Pepsi Zero Sodalicious Drink: I don't know Starbucks: Hot toasted vanilla oatmilk espresso add cinnamon, dbl shot Cookie: Monster Cookies, or something with nuts Cake: White Dessert: donut holes Take-out/fast food restaurant: Barros Pizza Sit down restaurant: Torchy's Tacos Ice Cream Shop/Flavor: Menchies Coffee Shop: Black Rock Bookstore: Barnes & Noble Teacher Supply Store: Amazon Scent: Eucalyptus spearmint bath & Body works Hobby: painting/jewelry making/karaoke

If you found a gift card for \$5, where would you want it to be to? **McDonalds** If you found a gift card for \$20, where would you want it to be to? **Amazon** If you found a gift card for \$100, where would you want it to be to? **Winco** Any Additional Information You Would Like Us To Know? I would like to be taken off the acknowledged birthday, Christmas list. As I do not celebrate any holidays or birthdays due to religious beliefs. Thank you for your understanding.

Ihese are a few of my FAVORITE THINGS

Name: Jennifer RobinsonCBirthday: March 29Shirt Size: XLDietary Restrictions: None

Class/Position: Inst Asst SPED

Monogram: Jennifer

MY FAVORITE:

College team: None Color: Green Salty snack: Nuts Fruit: Bananas Candy or candy bar: Milky Way Gum flavor: None Soft Drink: Mountain Dew Sodalicious Drink: Bombshell Starbucks: Vanilla Latte Cookie: Monster Cake: Chocolate Dessert: Any pie Take-out/fast food restaurant: Chick fil a Sit down restaurant: Black angus Ice Cream Shop/Flavor: Baskin Robbins- chocolate chip Coffee Shop: Starbucks Bookstore: Barnes & Nonle Teacher Supply Store: None Scent: Fresh Hobby: Sewing

If you found a gift card for \$5, where would you want it to be to? **Soda place** If you found a gift card for \$20, where would you want it to be to? **Food** If you found a gift card for \$100, where would you want it to be to? **Amazon** Any Additional Information You Would Like Us To Know? **You're the best!**

Ihese are a few of my FAVORITE THINGS

Name: **Rebecca Roessler** C Birthday: **November 30** Shirt Size: **M** Dietary Restrictions: **None**

Class/Position: Inst. Assistant

Monogram: RER

MY FAVORITE:

College team: None Color: Black, Sage, Rose Gold Salty snack: Pretzel Rods Fruit: Mangoes Candy or candy bar: Snickers Gum flavor: Mint Soft Drink: Pepsi Sodalicious Drink: None Starbucks: Cold-sweet cream cold brew Hot-hazelnut latte Cookie: chocolate chip cookie Cake: Marble cake Dessert: All of them Take-out/fast food restaurant: Sushi Neko Sit down restaurant: Cheesecake Factory Ice Cream Shop/Flavor: Baskin Robbins - Cookie Dough Coffee Shop: Starbucks Bookstore: Barnes Noble Teacher Supply Store: Amazon, Target Scent: Eucalyptus and Mint Hobby: Baking & DIY

If you found a gift card for \$5, where would you want it to be to? **Starbucks** If you found a gift card for \$20, where would you want it to be to? **Hobby Lobby** If you found a gift card for \$100, where would you want it to be to? **Target or Hobby Lobby**

Any Additional Information You Would Like Us To Know? I love animals! :)

Ihese are a few of my FAVORITE THINGS

Name: Alison Ryan Birthday: February 15 Class/Position: Instructional Aide

Shirt Size: XI

Monogram: Ryan

Dietary Restrictions: None

MY FAVORITE:

College team: Marine corps Color: Yellow Salty snack: Sour cream and onion chips Fruit: Strawberries Candy or candy bar: Reese's Gum flavor: Bubble gum Soft Drink: **Dr.pepper** Sodalicious Drink: Cherry coke Starbucks: Cafe mocha venti Cookie: Peanut butter chocolate chip Cake: Pineapple upside down Dessert: Brownies Take-out/fast food restaurant: Chic-fil-o Sit down restaurant: Texas Roadhouse Ice Cream Shop/Flavor: Dairy Queen Recees Coffee Shop: Dutch bro Bookstore: Barnes and noble Teacher Supply Store: Target Scent: Vanilla Hobby: Crafting

If you found a gift card for \$5, where would you want it to be to? **Dutch Bros** If you found a gift card for \$20, where would you want it to be to? **Barnes Noble** If you found a gift card for \$100, where would you want it to be to? **Barnes and Noble**

Any Additional Information You Would Like Us To Know? Thank you pto